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3MICT

[TosicHrOBanbHA 3anKCKa

[lepenik muTaHb 1 TEM JUIS CAMOCTIMHOTO OMPAIIOBAHHS Ta iHIUBIAYaIEHOTO BUKOHAHHS
[TousTiifHMIA anapat TeMm

[Tepenik BuaiB poOOTH 3 pEKOMEHAAIISIMH MO0 iX MPOBEACHHS

[Tepenik niTepatypu ajisi CAaMOCTIHHOTO ONPAIFOBAHHS TEM

3aBAaHHA ISl MOAYJIBHUX KOHTPOJIBHUX POOIT, CAMOKOHTPOJIIO, TECTU

PexomenoBana mirepaTtypa (0a3oBa Ta TOMOMDKHA)



1. ITOACHIOBAJIbBHA 3AIIMCKA

Hauanpna muctumuina «[Ipaktnyanii xkype iHozemuoi moBm» (III — IV cemectpm)
mocigae TMpoBimHE Micne B cucTeMi mpodeciiiHoi MmiaroToBku MaiOyTHHOro ¢axiBisg 3
aHTITIHCHKOT MOBH.

MeTor0 BHUKJIQAaHHS HaBYAIBHOT MUCHMILIIHU «[IpakTWyHMil Kypc IHO3EMHOI MOBH» €
(dbopMyBaHHS  KOMYHIKQTHBHOi,  JIHTBICTHYHOI,  COWIOKYJABTYpHOi  Ta  mpodeciiHoi
KOMIETEHTHOCTEH CTYJICHTIB MUIAXOM IX 3ay4eHHs O BHKOHAHHS MPO]ECiifHO OpiEHTOBAHMX
3aBJaHb, (OPMYBaHHS IHTEPAKTUBHUX HABHUYOK 1 BMIHb YCHOTO Ta MHUCEMHOTO MOBJICHHS 3
MOCJIIZIOBHUM YI0CKOHAJIEHHSAM KOXHOT'O OKPEMOT'O BUy MOBJIEHHEBOT JIISUIBHOCTI.

OCHOBHMMHM 3aBJaHHSIMH BUBUEHHS JUCUMIUIIHU «[IpakTHUHUN Kypc 1HO3€MHOT MOBM»

- PO3BMBATH JIIHI'BOKPAiHO3HABYl Ta KYJbTYpPOJIOTIYHI 3HAHHS CTYIEHTIB MpPO KYIbTYpY,
Tpaauuii Ta 38u4dai Benukoi bputanii Ta CILIA, nopiBHAHHSA iX 3 HalllOHAJIbHUMHU TPaJULISIMU Ta
KYJIBTYpPOIO CBOTO HApOY;

- YIOCKOHAJUTH MOBJICHHEBI BMIHHSI CTYJEHTIB 3 TOBOpIHHS, YUTaHHS, MUChMa Ta
ayirOBaHHS;

- copmyBaTH y CTYJEHTIB BMIHHS CaMOAaHaJI3y Ta BIAMOBIJAJIBHOTO CTAaBJIEHHS JI0
HaBYaJIbHOT aBTOHOMII, 3/110HOCT1 10 MOJAJBIIOT OpraHizaiii MpoIecy CaMOCTIHHOTO HaBYaHHS;

- chopMyBaTH y CTYJIEHTIB MepeKiIaalbki HABUYKHU IIJISXOM PO3BUTKY YMIHb KOMIIpECIT
TEKCTY, 3aCBOECHHS €JIEMEHTIB IEePEKIAAaIbKOTO CKOPOIIHCY Ta BUKOHAHHS MTEPEKIIaIHUX BITPAB.

IIporpamMHi pe3yJibTaTH HABYAHHSA:

v’ posymity (akTHuHy iHpopMalio, TepenaHy SAK EKCIUNUTHO, TakK K
IMILTIIATHO;

v\ KOMYHIKaTMBHO crnpuiiMaté iH(OpMalil0o B iHTEPB’I0, KOPOTKil JeKIi,
HOBHHAaX, OTOJIOIIEHHI, ONIOBiTaHH1 Ta OIIHNCI;

v\ iHTEpaKTUBHO CIIBIpALIOBATH Yy TPyli BUKOPUCTOBYIOYM BidmoBimHi
KOMYHIKaTHBHI CTpaTerii;

v'  IHTOHALIMHO  NpaBWILHO  OQOPMIIIOBATH  PO3IMOBiAHI,  IHMTAJbHI,
CHOHYKaJIbHI pEYeHHs 3a JOMOMOroI0 may3, (ppa3oBOro HArosiocy, pUTMIYHUX TPy,
TEMITy MOBJICHHS;

v' BOJIOJAITH MOHOJIOTIYHMM MOBJICHHSM: IEpEIaTH 3MICT MPOYMTAHOTO abo
MPOCITYXaHOTO TEKCTY 3 YpaXyBaHHSIM KOMYHIKAQTHUBHOI CHUTYyallii, poOUTH KOPOTKI
MOBIOMJICHHSI HA OCHOB1 MPOYMTAHOTO a0 MpociayxaHoro y ¢opMi OnoBizaHHA abo
OTIHCY 3 €JIEMEHTaMU MIpKYBaHHS;

v\ BOJIOAITH JiaJIOTiYHAM MOBJIEHHSM B OCHOBHHMX MOIO KOMYHIKATHBHHX
¢byHKIigX: 3anuT iHbopManii — moBimomIleHHs iH(OpMaIii; MpoNo3uiia (MpOoXaHHS,
Haka3, Mopajaa) — NPUAHATTSA/HENPUUHATTS 3alPONOHOBAHOTO; OOMIH CYIKEHHSIMU,
TyMKaMH, BpaKEHHIMH; B3a€MOTIEPEKOHAHHS; OOTPYHTYBaHHS CBO€I TOUKH 30DY;

v/ mHcaTtd BIAMOBIAHO CTPYKTYpi OodiriiiHi nucTH, ece, pe3roMe, MepeKasw,
pedeparu;

v\ pO3yMiTH Ha CIyX HABYAIBHHU ay/i0 TEKCT JITEPaTypHO - PO3MOBHOTO Ta
MyOJIIUCTUYHOTO CTHIIIB 3BYy4aHHAM 4-5 XBUJIMH 3 TeMIioM MoBJeHHs 220-270 ciiB 3a
XBUIUHY 3 3 % He3HalloMuX CIiB.

Tecmom € cucteMa napajelbHUX 3aBJlaHb crienudiuHoi GopMH, 10 A03BOJISE SKICHO U
e(eKTUBHO BUMIPATH pPiBEHb 1 CTPYKTYPY MiArOTOBKH CTyAEHTIB. KoxkHe TecToBe 3aBAaHHS Mae
BIJINOBIJATH YITKO BU3HAuUeHIH Gopmi Ta 3micTy. TUIbKM SIKICHI 3aBAaHHS 3a0€3MeUyI0Th BUCOKY
BaJIIHICTh (TECT cIpaBii BUMIPIOE Te, JJS YOrO HOTo MPU3HAYEHO) 1 HAMIWHICTh (HACKUIBKH
TOYHO TECT BUMIPIOE JIOCIIPKYyBaHE SIBUIILIE) TECTY.



KoHTponpHI TecTH HpOBOIATHCS SIK MEBHUH MiICYMOK POOOTH HAJ BHBUCHHSIM TEMH,
BOHM MalOTh KOMIUICKCHHH XapakTep, TOOTO MepeBipsOTh 3HAHHS W yMiHHA, 3100yTi U
BUPOOJICH] CTYyICHTaMHU B MEKaX KUIbKOX TeMaTHYHHUX OJOKIB.

TecroBe 3aBHaHHS CKIAJA€ThCS 3 YMOBHU (3alMTaHHS, HE3aKiIHYEHOTO TBEPKEHHS) Ta
YOTUPHOX BapiaHTIB BUOOPY, OJMH 3 SKUX MPABUIBHUINA, a perITa — TUCTPaKTOpH (IpaBaonoIi0H1
HeTnpaBWIbHI BiAmoBixil). HeoOXimHO 3ayBakWTH, IO HENpPABWIIbHI BapiaHTH BiANOBiAI HE €
aOCOIFOTHO HENpaBWIbHI, aje¢ BOHM BCE K MEHII MPaBWIbHI HDK €TaJOHHA BIiNMOBiAL (B
IMCTPAKTOPAX MOJEIIOIOTHCS THIIOBI TIOMUIIKH, SIKUX MPHUITYCKAIOTHCS CTYIEHTH NPU BHUKOHAHI
BIJMOBITHUX 3aBAaHb). 3aBIAHHA 3 OJHIEIO NMPABWIBHOIO BIAMOBIIIIO UM HE HAWMOMIMPEHINIi B
MPAKTUIl TECTYBAaHHS, IO MOSCHIOETHCS 3PYYHICTIO iX (GOpMH JUIS aBTOMATH3AaIil KOHTPOJIIIO
HABYAJILHUX JIOCSTHEHb.

TecToBi 3aBIaHHS CKJIa/1al0ThCS 3 TAKUX KOMIIOHEHTIB!
a) 3alUTaIbHOI (3MICTOBHOT) YaCTUHU;
0) YOTHUPHOX BIAMOBIICH.



2. TMIEPEJIK IIUTAHB I TEM JIJISI CAMOCTIMHOI'O OITPAITFOBAHHS TA
IHANUBIAYAJBHOI'O BUKOHAHHA

Tema 1. BenukoOpuranis: JIOHIOH: iCTOPis, CHOTOACHHS.

Tema 2. TpancnopTHa cucteMa, BUIU TPAHCIIOPTY.

Tema 3. IlepecyBaHHS MIiCTOM, TPAHCIIOPTHI ITPOOIEMH.

Tema 4. CHIA: HaiiOupmi MicTa (3arajgpbHa XapaKTEPHCTHUKA, HAWBIAOMINII HaM sSTKH,
CTaTUCTHYHI JaHi).

Tema 5. HagmipHa KOHIIEHTpallisl HACEJIEHHS.

Tema 6. Exonoriuni, caniTapHi, KpUMIHaJIbHI Ipo0OJeMHU, KOHTPACTH MaifHOBOT HEPIBHOCTI.

Tema 7. [loroxa, mporHo3 Moroam.

Tema 8. [Ipobrema ri100anbHOTO MOTETITIHHS.

Tema 9. Onagu 1 OB’ sA3aH1 €KOJIOTTYHI JIMXa.

Tema 10. CtuxiiiHi sBuILA.

Tema 11. Exosoriuni npobaemu.

Tema 12. [lapauxoBwuii edekt Ta oro BIIMB Ha 3MIHHU KITIMATY.



3. MIOHATIMHUMN ATIAPAT TEMHA

Moayas 1. MicTo Ta HOro MEIIKaHIII.

3micmosuii modyne 1. BenukoOputanis: JIOHIOH: ICTOPist, CbOTOACHHS, KyJIbTYPHE KHUTTS,
HaliBimomimi BynWii, miomyi Tomio. TpaHCHOpTHA CHUCTeMa, BHIU TPAHCHOPTY, MEpecyBaHHS
MICTOM, TPAHCIIOPTHI TPOOIIEMH.

3micmosuit mooyns 2. CHIA: naitbineini micta (Bamunrton, Heio-Mopk, Yukaro, Jloc
Anmxenec, Can-OpaHIuCcKo) — 3arajbHa XapakTepUCTUKa, HaWBIAOMIIII [TaM’SITKH, CTAaTUCTUYHI1
JaHl.

3micmosuit modyns 3. HanmipHa KOHIIEHTpallisl HaceJIeHHs, TPAHCIOPTHI, €KOJIOTIYHI,
CaHiTapH1, KpUMIHAJIbHI NPOOJIEMHU, KOHTPACTH MaiHOBOT HEPIBHOCTI.

3micmosuii mooyne 4. Ykpaina: HaiiBaxiupimi micta (KuiB, XapkiB, Opneca, JIbBiB).
3arambHa XapakTepucTuka, cratuctuuHi nadi: KwuiB, XapkiB, Opeca, JIpBiB.  HaitBigomimri
mam’satku: KuiB, XapkiB, Omneca, JIsBiB. KuiB — Halikpame Ta HaWTIpie B CTOJHII OYUMa
aMepUKaHIIB Ta YKpaiHIIiB.

Monayas 2. I[Toroga. [Iporuos norou.

3micmosuii modyns 5. lloroma, mporno3 moroau. Temmeparypa 3a Ilembciem Ta
dapeHreToM, TUMK KIMaTy, AHTapKTHOAa 1 mpodOiieMa riaobampbHOTO TMOTeruriHHA. Omamu i
OB’ s13aH1 €KOJIOTIYHI JIUXa, TUITK XMap Ta NOTOAHUX (PPOHTIB.

3micmosuii modyns 6. CtuxiiHi sBuma. Exosoriuyni npo6iemu. AHOMalIbHI aTMOChepHi
sBUIa. Tumu ONMCKAaBOK Ta IIKOJA, sIKY BOHM 3arloJIilOIOTh; TUIM BITpiB, mkaia bodopra.
[TapHukoBHit eekT Ta HOro BILIMB HA 3MIHM KJIIMATy B aHTJIOMOBHHUX KpaiHax Ta B YKpaiHi.



4. TIEPEJIK BHUAIB POBOTH 3 PEKOMEHJIAIISIMU IIOI0 IX
IMPOBEJIEHHA

CamocrTiitHa po0OTa € HEBiI €MHOIO CKJIQJIOBOI0 BUBYCHHS HABYAJIBHO! TUCIUILIIHU. BoHa
3MIIICHIOETHCS 32 TAKUMU HANPSIMKAMH:

MIATOTOBKA TEOPETUYHUX MUTAHB JI0 3aHATH;
BUKOHAHHS IPAKTUYHUX 3aBJaHb;
KOHCIIEKTYBaHHSI aBTEHTUYHUX M1APYYHUKIB;
BUKOHAHHS IHAMBIIyaJIbHUX 3aBJaHb (HAIIMCaHHS TBOPIB);
MIJITOTOBKA J0 MIICYMKOBUX MOIYJIBHUX POOIT;
MIArOTOBKA 0 3aJKiB.
IlinroroBKka TeopeTHYHHX NUTAaHb [0 3aHATH Iliependayvae OIpallOBaHHSI TEMU

3aHATTA. Takl MUTaHHS MOTJM SK PO3TIAAATH i Yac MPAKTHYHOTO 3aHATTS, TaK 1 MOBHICTIO
BHUHOCHUTHCS Ha CAMOCTIHHE OTpaI[fOBaHHS.

Aneopumm niocomosxu

e Busnaure nuTaHHS A7 OIATOTOBKH (MalOTh OYTH PO3IIISHYTH YC1 IUTaHHS TEMU).

e Bi3pmiTh y O10ioTeli yHiBepcuTeTy (YuTaibHOMY 31l abo Ha Kadeapi) Kepena, 3a3Ha4eH1

y CHHCKY OCHOBHOi jiteparypu. Ilpm mimbGopi miteparypu Bu MokeTre KOpPHUCTyBaTHCS

0106;i0TeYHMU KaTajoramu (aadaBITHUM, PEIMETHAM 200 CUCTEMATHYHHM ).

Busznaute po3ainu (Temu abo maparpadu), y SKUX pO3KPUTO IMUTAHHS 3aHSATTS.

[TpouwnTaiite i po3aUIH.

CKiaaiTh IUIad BIAMOBIA] HA KOYKHE ITUTAHHA.

Busnaure ocHOBHI ITOHATTS, ki B¥ TOBUHHI 3aCBOITH.

e [IpoananizyiiTe, sSIK ONpabOBaHWN MaTepiall OB’ A3aHUH 3 IHITUMHU MUTAHHIMH TEMHU.

e JIns xpamioro 3acBO€HHSI Ta 3araM’SITOBYBaHHSA Martepiajly CKJIaliTh KOPOTKUN KOHCIEKT,
cxemH, TabauIli a6o rpadiky 1Mo MPOYNTAHOMY MaTepiay.

e BuzHaure npobieMu B onparbOBaHOMY MaTepiaii, ki Bu HegocTaTHbO 3po3yMiIn. 3 MUMHU
NUTaHHSAMU Bu MoxeTe 3BepHYTHCS Ha KOHCY/IbTAIIll 10 BUKIIaJaya.

e [lepesipre, sik Bu 3acBoinu ompainboBane nutanHs. Bu Mosxere 1ie 3poOUTH, BIAMOBIBIIN HA
TECTOBI MUTAHHS J0 TEMH a00 PO3B’sI3aBIIM MPAKTUYHI 3aBIAHHS.

KoHcnexkTyBaHHSI aBTEeHTHYHMX MiIPYYHUKIB niepedayae noriauOiIeHunil po3riisl OKpeMHUX
MUTaHb TeMH. {151 KOHCIIEKTYBaHHSI MOXYTh MPOIMOHYBATHCS ABTEHTUYHI MiAPYYHUKHU OPUTAHCHKUX
Ta aMEPUKAHCHKUX BHJIAHb.

Aneopumm niocomoexu

e [IpounraiiTe TeMy y 3alIpOIIOHOBAHOMY MiPYUYHUKY.

e Cxnanite 1iaH (mpocTuii abo cKiIagHu).

e Jlns KOXKHOTO IyHKTY IUIaHY BMJIUTITH OCHOBHI HOJIOXKEHHS NMPOOJIEeMH, sIKa BUCBITIIOETHCS Y
MIAPYYHHKY.

e [IpencraBre mpouMTaHUH TEKCT Y BUIJIAAL Te3 ab0 aHOTAlll, BUKOPUCTOBYIOUH, IpU MOTpPeOi,
cXeMH, Tabmu1li, rpagiky TOIIO.

e Jlns caMonepeBipKy NepeKaxiTh TEMY, BUKOPUCTOBYIOUH BIACHUNA KOHCIIEKT.



Odopmits pedepaT BIAIOBITHO 10 BUMOT.
3naiite pedepar BuKIanady y 3a3HaYCHUNA TEPMIH.
BukoHaHHs iHIMBiIyaJbHHX 3aBJAaHb Ma€ Ha METi BUPOOJEHHS yMiHb, HEOOXIIHUX s

MPAKTUYIHOI'O 3aCTOCYBAHHA HABUYOK, OTPUMAHNX BIIPOAOBK BUBYCHHA TCMU.

AJZZOle’I’lM BUKOHAHHA

O3HaifomTecs 3 BUMOTaMH JI0 HallUCaHHS TBOPY.

Busnaure, un J0BOMIIOCS BaM BUKOHYBATH IMO/110H1 3aBIaHHS.

[IpoananizyiiTe TEOPETUIHUI MaTepiai, HEOOXITHUN JJIsi BAKOHAHHS 1HMBITyaJIbHOTO 3aBJaHHS.
Buznaute nuTaHHs, Ha SIK1 BU HE MOJKETE JaTH BIAMOBINI CAMOCTIHHO, Ta 3BEPHITHCS 3 HUMHU Ha
KOHCYJIbTAIIli 10 BUKJIa/1a4a.

Konkperusyiite 3aBaaHHs, sKI BH Mae€Te BHUPIIIMTH B XOJlI BUKOHAHHS I1HIMBIIyaJlbHOTO
3aBJ/IaHHS.

Cxaziitb pO3rOpHYTHI TUIAaH BUKOHAHHS 3aBIaHHSI.

Buxonaiite iHAMBIyalbHE 3aBIaHHS BIIMOBIIHO 0 TIJIaHY.

[Ipoananizyiite, uu BCi MOCTaBIIEH] 3aB/IaHHS BU BUKOHAJIH.

Buecitp, npu noTpedi, KOPEKTUBU JO BUKOHAHOTO 3aBAAHHS.

OdopmiTh 3aBAaHHS BIAMOBIIHO 10 BUMOT.

3naiiTe 3aBlaHHS BUKJIaa4yy y 3a3HaYEHUN TEPMIH.

IiaroroBka x0 nincymkoBux moayjabHux pooit (IIMP), ek3ameHny Mae Ha METi y3araJlbHCHHS Ta

CHUCTEMaTH3aIliI0 3HaHb 3 OKPEMOTO MOAYJIS a00 AUCIUIUTIHA Y IILIOMY.

AJZZOquLM BUKOHAHHA

O3naitomTecs 3 epeNikoM MUTaHb Ta 3aBaanb 10 [IMP, 3aiky abo ek3aMeHy.

[TinGepiTh MiAPYYHUKH, IHCTPYKTUBHO-METOIUYHI MaTepianu abo IHINY JOBIIKOBY JITEpaTypy,
HeoOXximHy st migrotoBku (i mepemik Bu Mokere 3HaWTH B IHCTPYKTUBHO-METOJIUYHUX
Marepianax 0 MOyl abo Kypcy).

[lepernsHpTe 3MICT KOXXHOTO TIMTaHHS, KOPHCTYIOUHCh BJIIACHUMH KOHCIIEKTaMH  a0o
MiIpYyYHUKAMH.

BusHaute piBeHb 3HaHb 3 KOXKHOTO IIUTAHHS.

BuzHaute nuTaHHA, SKI MOTPEOYIOTH PETENBHINIOI MIATOTOBKH (OIpAIfOBAaHHS JOJATKOBOI
JiTepaTypu, CKIaJaHHA KOHCIEKTIB, CXeM, PO3B’SI3aHHS OKPEMHUX THUIIB 33Ja4 TOIIO). 3 L€
METOIO 3BEPHITHCS JI0 aJIrOPUTMY MiATOTOBKUA TCOPETHYHUX IMHUTAHb JIO CEMIHAPCHKHX 3aHSTh Ta
BUKOHAHHS MIPAKTUYHUX 3aBJIaHb JI0 Ta0OPATOPHUX 3aHSTh.

Jliist caMoniepeBIpKU NIEPEKaXiTh TCOPETHYHI MUTAHHS 200 BUPIIIUTH PAKTUYHE 3aBJaHHS.



10.

11.

12.

13.

5. MEPEJIK JITEPATYPHU JJI51 CAMOCTIHHOT' O OITPAITIOBAHHSI TEM

Acklam R., Crace A. Total English Intermediate. Longman, 2009. 159 p.

Doff A., Thaine C., Puchta H., Stranks J., Lewis-Jones P., Burton G. Empower B1l+/
Intermediate Student’s Book. Cambridge, United Kingdom, Cambridge University Press,
2015. 176 p.

Doff A., Thaine C., Puchta H., Stranks J., Lewis-Jones P., Burton G. Empower B2/ Upper
Intermediate Student’s Book. Cambridge, United Kingdom, Cambridge University Press,
2015. 176 p.

Doff A., Thaine C., Puchta H., Stranks J., Lewis-Jones P., Burton G. Empower C2/
Advanced Student’s Book. Cambridge, United Kingdom, Cambridge University Press, 2015.
176 p.

Harris M., Mower D., Sikorzynska A. Challenges / Students’ Book Intermediate. Pearson
Longman, 2006. 128 p.

Evans V. Successful Writing / Intermediate. Express Publishing, 2008. 135 p

Evans V., Dooley J. Upstream Intermediate / Students’ Book. Express Publishing, 2002. 222
p.

Fuscoe K., Garside B., Prodromor L. Attitude / Students’ Book 3. Macmillan, 2007. 143 p.
Harris M., Mower D., Sikorzynska A. Challenges / Students’ Book Intermediate. Pearson
Longman, 2006. 128 p.

Oxender C., Latham-Koenig C. New English File / Upper-Intermediate Students’ Book.
Oxford University Press, 2005. 160 p.

Redman S. English Vocabulary in Use / Intermediate. Cambridge University Press, 1997.
266 p.

Sharman E. Across Cultures. Culture, Literature, Music, Language. London: Longman,
Pearson Education Limited, 2004. 160 p.

Soars L., Soars J. New Headway / English Course Intermediate. Oxford University Press,
2005. 160 p.



6. 3ABAJAHHA 111 MOJAYJbHUX KOHTPOJILHUX POBIT,
CAMOKOHTPOJIIO

UNIT 1 LIVING IN AMEGACITY
TASK 1
1. Do the research work. Browse the net to give some information about one of the world-
known cities. Write down some information if needed (dates, names, places, etc.)

2. Ask each other questions about the cities to summarize.

Do you know what ?
I’ve no idea what

| wonder when

| wonder what sort
Do you know when
Could you tell me where
I’ve no idea when ?

I haven’t a clue who
Could you tell me where
10 Do you know where
11. 1 wonder what

12. Do you happen to know what ?

©ooN s WNRE

TASK 2

Unscramble the words and explain what they mean:
1. Sburusb

Lmuss

Cmotuem

Tasteu

Acinetn

Gthymi

Rceaurcseo

Bayeb

Inamtays

10 Arnomch
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11. Eetebsfra
12. Crohcnierl

VOCABULARY/DICTIONARY WORK

TASK 3
Match the words with their definitions:

1.

inhabitant

2. dweller

ok~ w

citizen
resident
local

a. aperson who lives in the particular small area that you are talking about

b. aperson or animal that lives in a particular place

c. aperson who is a member of a particular country and who has rights because of
being born there or because of being given rights, or a person who lives in
a particular town or city

d. aperson who lives in a city, town, cave etc.

e. aperson who lives or has their home in a place

Give your own examples with the words:

o krwbdPE

S A

moow»

mn

city

town
settlement
village
hamlet
municipality

a city or town with its local government, or the government itself

a place where people come to live or the process of settling in such a place

a small village, usually without a church

a large town

a group of houses and other buildings that is smaller than a town, usually in the
countryside

a place where people live and work, containing many houses, shops, places of work,
places of entertainment, etc, and usually larger than a village but smaller than a city


https://dictionary.cambridge.org/dictionary/english/person
https://dictionary.cambridge.org/dictionary/english/lives
https://dictionary.cambridge.org/dictionary/english/particular
https://dictionary.cambridge.org/dictionary/english/small
https://dictionary.cambridge.org/dictionary/english/area
https://dictionary.cambridge.org/dictionary/english/talk
https://dictionary.cambridge.org/dictionary/english/person
https://dictionary.cambridge.org/dictionary/english/animal
https://dictionary.cambridge.org/dictionary/english/lives
https://dictionary.cambridge.org/dictionary/english/particular
https://dictionary.cambridge.org/dictionary/english/place
https://dictionary.cambridge.org/dictionary/english/person
https://dictionary.cambridge.org/dictionary/english/member
https://dictionary.cambridge.org/dictionary/english/particular
https://dictionary.cambridge.org/dictionary/english/country
https://dictionary.cambridge.org/dictionary/english/rights
https://dictionary.cambridge.org/dictionary/english/born
https://dictionary.cambridge.org/dictionary/english/rights
https://dictionary.cambridge.org/dictionary/english/person
https://dictionary.cambridge.org/dictionary/english/lives
https://dictionary.cambridge.org/dictionary/english/particular
https://dictionary.cambridge.org/dictionary/english/town
https://dictionary.cambridge.org/dictionary/english/city
https://dictionary.cambridge.org/dictionary/english/person
https://dictionary.cambridge.org/dictionary/english/lives
https://dictionary.cambridge.org/dictionary/english/their
https://dictionary.cambridge.org/dictionary/english/home
https://dictionary.cambridge.org/dictionary/english/place

Give your own examples with the words:

1.
2.
3.
4,
5.
6.
TASK 4
Match two halves:
1. Oxford A. Wharf
2. Canary B. Dome
3. Charles C. Garden
4. Covent D. Park
5. Leicester E. Street
6. Shaftesbury F. Circus
7. Millennium G. Avenue
8. Hyde H. Dickens
9. Camden J. Saxons
10. Royal Albert K. Square
11. Globe L. Airport
12. Swan M. market
13. Christopher N. Caesar
14.Yeomen O. Bridge
15. Buckingham P. Hall
16. Tower Q. Theatre
17. Gatwick S. Palace
18. Anglo T. Upping
19. Julius U. Wren
20. Piccadilly R. Warders
VISITING ACITY/TOWN
TASK 5

Fill each blank with the correct form of the word given at the end of the line.

Lots of cities and towns are getting more and more (1) SUBURB
in their nature since (2) move to the outskirts in search INHABIT
of what they believe will be more (3) places to live. ATTRACT
City centres are (4) being regarded as unsafe and INCREASE
(5) , especially, after dark, due to a rise in crime PLEASE
and (6) . At the same time many enterprises have VANDAL
relocated to new (7) estates, retail and shopping INDUSTRY
centres built in what was formerly (8) countryside. SPOIL

(9)

are extremely worried about the threat to CONSERVE



the (10) environment. They are calling for NATURE

(12) projects to persuade people to return to REGENERATE
inner city areas and to halt the (12) of nature DESTROY

One (13) being put forward is to create new SOLVE

(14) areas on derelict sides and provide well- RESIDENT
designed (15) housing as well as areas for AFFORD

(16) and recreation. RELAX

TASK 6

LIVING WITH SKYSCRAPER

Skyscrapers are (1) wonders of modern cities. ARCHITECT
There is an increasing (2) on them to maximize city space RELY

and tourists love to admire them. But while tall buildings look (3) AWE

from afar, in many ways their most (4) impact is at SIGNIFY
ground level.

Wind speed increases in (5) to height, and tall buildings RELATE

force winds that would normally stay well above street level ground wards.
This creates micro-climates at the foot of the building that feel

(6) colder than surrounding areas. Skyscrapers also CONSIDER
@) shadows. In hot climates this is appreciated, SUBSTANCE
but in colder countries, where the sun is welcomed, it’s more likely to be a cause

of (8) . Groups of tall buildings also affect the transmission ANNOY

of sound at ground level and can result in noise being amplified to intolerable

levels.

Some architects have been accused of being (9) of DISMISS
the impact of skyscrapers on pedestrians’ lives and of disregarding the fact

that, in order to encourage walking and street life, buildings need to interact

with what is at their base.

TRANSPORT
TASK 7
Choose the correct alternative:
1. of the huge luxury housing estate are constantly complaining about poor bus
service in the evening.
A. Generation B. People C. Residents D. Locals
2. Locals are spreading some gossip about building five more of flats.
A. group B. pieces C. blocks D. areas
3. The local authorities are eager to turn the town centre into a precinct, so they
are doing their best to ban all the cars from there.
A. pedestrian B. zebra C. catwalk D. transport
4. This part of the city appears to be a vast building , with office blocks stretching as
far as the eye can see.
A. side B. sight C. site D. zone
5. If visitors have nothing to do in the City, they have a golden opportunity to wander around
the centre.

A. shopping B. department C. market D. stall



6. The Smiths’ cottage is in a quiet about three miles from the city centre.

A. suburbs B. outskirts C. part D. region
7. The pace of life usually gets far slower to people from the city.
A. urban B. rural C. industrial D. cosmopolitan
8. Now with urbanites buying second homes, prices are too high for most couples
from the village.
A. property B. building C. living D. estate
9. The new-built electricity absolutely spoilt the view over the outstanding valley.
A. wires B. pylons C. threads D. pieces
10. The multi-story car can hold approximately to 2, 000 vehicles.
A. station B. area C. zone D. park
TASK 8
Choose the correct alternative:
1. Look at the cars moving so fast! They must be breaking the limit.
A. speed B. driving C. transport D. law
2. Our relatives arrived too late to the plane.
A. have B. catch C. take D. get
3. Oh, great! You have finally arrived! Why was your sea so long?
A. trip B.travel C. journey D. voyage
4. Have you heard the terrible news? There was a bad between the three cars in
the capital city last week.
A. clash B. collision C. conflict D. interference
5. There is a widespread agreement that plane have to go down in price.
A. fares B. fees C. cost D. payment
6. Before making for a megacity we try to work out our very carefully to avoid
most of the usual hold-ups.
A. itinerary B. road C. traffic D. way
7. Although the coach had reclining and air-conditioning, the tourists still had
difficulty getting to sleep.
A. seats B. shelves C. trays D. aisles
8. As my brother-in-law to work every day, he has bought a seasonal ticket.
A. walks B. drives C. rides D. commutes
9.  Asthe cruise progressed, life on soon settled down to a comfortable routine.
A. cabin B. wharf C. board D. dock
10. The travel are offering cut-price fares to destinations all over the world.
A. organization B. company C. agency D. institution
TASK 9

Read the text below and choose the correct word for each space. For each question choose
the correct letter A, B, C or D.

THE COCO TAXI
For many adventure (1) , the best way to (2) a large city is on foot.
Not only is it better for a tourist to (3) the metro or another kind of public transport,

but It’s also better for the environment. (4) , In lots of cities all over the world there



are rather extraordinary means of getting around. Take, for instance, the coco taxi in Havana,

Cuba. The streets there are (5) of these little but fast vehicles.

A coco taxi is said to be a three-wheeled vehicle, (6) to a small motorbike,
covered by a round plastic structure. It looks like a huge yellow coconut, which makes local call
it the ‘coco taxi’. Only two people can (7) in and sit at the back while the driver sits
in the front.

Even though the yellow coco taxis are a symbol of the Cubans, not everyone can use
them. Only tourists are (8) , but (9) take their routes using black
taxis. So, every visitor is eager to have a (10) when they are on their trip to Havana.

1. A seekers B passers-by C visitors D onlookers
2. Avisit B investigate C explore D look into
3. Acatch B. take C board D go

4. A However B. Moreover C But D Though
5. Abusy B. full C crowded D stuck

6. A like B as C alike D similar
7. Ago B come C break D get

8. A made B let C provided D allowed
9. Alocals B urbanites C dwellers D lodgers
10. Aride B walk C journey D lift
TASK 10

For questions 1-8, read the text below and decide which answer (A, B, C or D) best fits each
gap.

FUTURE CHALLENGE
Modern cities are full of (1) and pollution. Understandably, lots of people believe
these problems will become (2) in the future and will make life there mostly
impossible. But, what if the biggest challenge for cities is (3) else?

Cities need energy to survive. They cannot function without electricity or petrol, which we get

when we burn  fossil  (4) . But one day they will run
(5) . Have you ever wondered what city life will be like when they do? We won’t have
electricity or heating and cooling systems. Public transport will (6) to a halt. Schools,

shops and other services will cease to (7)

Fortunately, we already have the technology to (8) with its challenge. The problem is
that we are not using it. For example, all city buildings could use energy from the sun and wind
for electricity and heating. (9) , public transport could become electric.

It’s possible for cities to survive without fossil fuels if we invest in alternative energy. This
cleaner technology will also help make the planet a better place. We need to make important

changes now, so we don’t (10) major problems later.
1. A transport B vehicles C traffic D means
2. Abad B worse C worst D badly

3. A something B anything C nothing D everything



4. A fuels B ends C remains D odds

5. Aout B over Cinto D with

6. Ago B come C draw D end

7. Alive B exist C function D do

8. Adeal B connect C cooperate D associate

9. Anaddition B However C Finally D But

10. A meet B face C cope D create
TASK 11

Fill each blank with ONE suitable word only.

A REPORT

TRAVEL CHOICES FOR YOUNG PEOPLE VISITING OUR COUNTRY
Introduction

This report, commissioned (1) the local tourist office, gives details of three
modes of transport available (2) tourists (3) their late teens and early
twenties.

Rail

This is known to be the quickest way to (4) . It is rather expensive, although
anyone under the age of 26 can buy a card entitling them (5) a discount (6)

30 % on most tickets.

Coach

Coach travel is considerably (7) expensive and can be made cheaper still

through the purchase of a discount (8) . The main disadvantages are (9)
coaches are less frequent (10) trains ant travel to fewer places.

Car hire

Car hire is the (11) convenient method as it is possible to visit places which are

not served by public (12) . However, many companies are reluctant to hire cars to

young people, and if (13) do, the costs can be extremely high.

Conclusion

The choice of transport will (14) on circumstances. If time (15)

short, train travel should be recommended since more places (16) be visited.

If cost is an important factor, then coach travel must become the best option.

TASK 12
Fill each blank with ONE suitable word only.
ON YOUR BIKE!

Many environmentalists are wondering whether Europe (1) meet its target for
reducing (2) emissions. The EU’s goal is for 80% to 90% of emissions to be
reduced (3) 2050, taking the 1990 levels as a starting point.

The European Cycling Federation (ECF), which is based in Brussels, think they have a
solution that would party (4) to get Europe on target. They claim that (5)



all European citizens cycled as (6) as the Danes, it would result (7)

greenhouse gases being reduced by around 25%. If more people (8) their bikes
instead of using private cars, this figure would be even (9) . The Danes, it would
seem, are very keen (10) cycling. The average Dane cycles 600 miles (11)

year. That’s a huge difference between the average for all Europeans, which is less (12)
120 miles per year. What is more, the figures quoted by the ECF don’t (13)
into consideration the harmful effects building roads, car parks, maintaining and
disposing of cars have on the environment. Calculations made by the ECF have (14)
that only 21 g of emissions are created per cyclist per kilometer, in (15) to 271 g
for car passengers and 101 g for bus passengers.

TASK 13
Complete the extract with ONE suitable word only.

Dear Sean,

I’'m so (1) that you are about to come to my place to stay with me.
As requested, I’m writing a brief (2) of my town and what to do here.

As you know, 1 live in a holiday (3) on the south coast. To me, the best
things about the town can be the beautiful green spaces and long sandy (4)
There’s nothing special about the (5) centre, though. It’s got a (6)
precinct with the kinds of shops you can find everywhere (7) , and plenty of
snack bars.

The town has 170, 000 inhabitants and gets really noisy during the holiday season.
Most (8) people work in offices, hotels or shops. Outside the tourist season it can
be (9) to find a job. There isn’t much industry, (10) for a factory
manufacturing electronic goods which is located (11) the outskirts of the town.
(12) you might expect, a great number of people spend their time lying on the
beach since it’s absolutely free. In the evening, we often go to clubs, but it turns to be a bit
expensive. We find (13) cheaper to hire a video, get a pizza and come round to our
pals’ place.

Dad says I can borrow his car when you come, so I’ll be able to take you around some
of the surrounding countryside, which is well (14) seeing.

TASK 14
Complete the extract with ONE suitable word only
SAFETY AND THE CITY
What are the factors that help us decide whether a city (1) a good place to live
or not? It certainly should have all the modern amenities like schools, hospitals, banks and
entertainment facilities that you’d expect to find a large urban centre. But if you (2)
ever lived in a big city, you’ll know that one of the most important factors is
safety. Research into safety and fear in cities focuses (3) factors such as how
frequently accidents (4) place as well as how high the crime rate is in order to
rank them on the safe or dangerous scale. But even people who have (5) been the
victims of crime still have feelings of fear in the most dangerous cities. If you find (6)
in a panic every time you are alone at a bus stop or when you are walking (7)
an empty street at night, then maybe you need to move (8) a safer
city. In fact, people who (9) to live in fear in their hometowns have often



experienced great lifestyle changes simply by moving to a safer city. There is no (10)

living in a bustling city if you fear for your life when you step outside. It is no
surprise that Luxembourg or Geneva and Zurich in Switzerland rate among the safest cities
in Europe. But given that many people associate Ireland with civil unrest, it is encouraging to
hear that Dublin (11) also been named one of Europe’s safest cities for visitors and
locals. This is because the Irish are thought to be amongst the least likely Europeans to get
involved in violent crimes. So, if you are (12) about moving city, give serious
consideration to Dublin.

TASK 15

Use the words from the word bank to complete the sentences below.

community; alley

metropolis; residents

district; guide book

pedestrian terminal

destination; tip

monument; insight;

1. Here is a useful for a first-time traveller — keep the passport and money of
yours safe.

2. Only several in the street complained about the loud noise from the
birthday party of their neighbours.

3. This is for domestics flights; for international flights, you need to go to a

different part of the city.
4. The local council is responsible for is responsible for collecting the rubbish in our

5. The most important in New York is said to be The Statue of Liberty.

6. Washington, the capital city of the United States of America, is a huge with
millions of inhabitants.

7. Nick has ordered this via the net, though could easily get it from the local
shops.

8. When we were just an hour from our the coach broke down in the middle
of the road.

9. This road is known to be too dangerous to cross; a was nearly run over here
last week.

10. The largest Greek outside of Greece is in Melbourne, Australia.

11. The mountain remote village that our tourist group visited gave us into the
rural way of life.

12. Don’t park your motorbike in the as it’s not safe there.

TASK 16

Complete the sentences with the words given.
district suburb

inner urban

outskirts inhabitant

commercial landlord

residential industrial



1. A has to deal with plenty of legal obligations before having a tenant.

2. Sean lives on the of the city, so it takes him ages to get downtown.

3. Fifth Avenue in Manhattan is regarded to be the most expensive shopping in
the world.

4. The newly-weds are looking for a new cottage in a quiet area that is close
to playgrounds or any pre-school institutions.

5. The majority of the world’s population lives in areas, which is why cities are
so crowded.

6. The first of the estate was my uncle who built lots of premises later.

7. Many factories and plants have been relocated in the park on the edge of
the city.

8. My extended kin grew up in a(n) of Mellbourne that is about 25 kilometres
from the city centre.

9. I don’t really like city areas since they are usually dirty, full of graffiti and
rather ugly.

10. It’s crazy at weekends in the areas as everyone is out doing their
shopping.
TASK 17

Underline the correct words.

1. The man stepped onto the pavement / parking meter, locked his car and put some coins into
the pavement / parking meter.

2. Jack damaged his car as he was looking for a street sigh / speed bump and didn’t notice the
street sign / speed bump.

3. Don’t drive over the speed cameras / speed limit since there are speed cameras / speed limit
everywhere and you will be caught.

4. The family drove along a tree-lined alley / avenue and then turned right into a narrow alley /
avenue.

5. On approaching the junction / traffic light, Alice slowed down because the junction / traffic
light was red.

6. Drivers must always stop at a pedestrian area / zebra crossing ant they must never enter a
pedestrian area / zebra crossing.

7. A person who lives in a city is a citizen / city dweller.

8. Constant annoying sound is called noise level / pollution.

9. The countryside is a(n) rural/ urban area.

10. Town planners are people whose job is to design towns and cities / organize events in the
rural areas.

TASK 18

Complete the blanks with the appropriate word. The initial letter is given.

Some years ago, (1) | in fresh, clean countryside (2) a was preferable to

large, polluted (3) c . But things have changed, and it is a sad fact that the (4)

c is not as clean as it used to be. The question is, is it as bad as cities?



Today’s cities can indeed be very unpleasant (5) p . Firstly, there are too many (6)

% in the streets and as a result cities are full of noise, annoying traffic (7) j

and pollution from dangerous (8) e fumes. Similarly, factories in cities also (9) p
poisonous fumes that are bad for human (10) h

Of course, there are problems in the countryside, too. If farmers use chemicals on their (11)

c , the chemicals can get into rivers and (12) c water pollution. Fish die or
become dangerous to consume. (13) F , it doesn’t happen everywhere. If it did, the
countryside would be as (14) d as cities.

To sum up, though there are environmental issues in cities and the countryside, it is clear where

the problem is greater. Not all countryside areas are (15) p . In contrast, many cities
(16) f serious (17) e problems that must be solved.
TASK 19

Complete the text with the words from the box:

Vulnerability  social communities resilience planning resource eco-engineering
natural water cycle natural disasters  smart solutions mitigate risks optimistic
engineering infrastructure urban decline  levee systems perpendicular utility

infrastructures

In the article “The Future of the City” published in Aeon Magazine Leo Hollis researchers the
problem of the city (1) caused by various (2) . Hollis (2013)
argues that a huge majority of cities have no future since they lack (3) . This lack is
often explained by the lack of necessary (4) and technologies but Leo Hollis
argues that the main problem is absence of well-developed (5) in the cities. He
concludes that instead of investing into (6) and technologies, it is far more
effective to build communities where all members help each other. Though the approach offered
by Leo Hollis has some common sense, it is not supported by other scholars researching the
problem of resilience and sustainability of the cities. Kelly Shannon, for instance, states that (7)
is the main precondition of city resilience and (8) development.
Without introduction of new methods of (9) and design cities remain vulnerable
to natural disasters such as floods and hurricanes. Having analyzed the historic patterns of city
development, Shannon came to the conclusion that water is the most important (10)
influencing the process of city growing and (11) . In this respect
modernization of (12) should become the main objective of city designing. The
author introduced the concept of “integrated resource water management” (Shannon 164). The
essence of the approach that will guarantee (13) future for the cities lies in
“decentralized and proactive approach of detention, retention and recharge which protects the
(14) and ecological system by the introduction of local source control” (Shannon
164). This idea is supported by Lisa Sun arguing that engineering plays a decisive role in the city
resilience. She states that it can provide people with (15) that do not demand a lot
of money or efforts for their realization. One of such solutions is “building a series of roads that
run (16) to the coast” (Sun 2157). Such design is exceptionally important for the
waterfront cities having an increased risk of natural disasters. It will allow communities to (17)
and will prevent them from losing access to roads and (18) . Lisa




Sun also emphasizes the importance of the effective levee system that is built according to the
principles of eco-engineering.

SPEAKING

TASLK 1

Talk about your native town or city for about a minute using the vocabulary given:
City centre commons
Locals density
Tourist attraction /tourist mecca industrial premises
Suburban areas retail centre
Entertainment taxi
Lively nightlife bus connection
Transport system city events
Remarkable sights route
Close to nature rush hour
Get around the city revitalized
Slums overseas
TASK 2

Give the answers to the questions suggested. Talk about a minute to express your ideas.
What are the best things about city living?

How are people who live in cities different from those who live in the countryside?
Some people think megacities are lonely places. Do you agree?

Would you like to live in the countryside? Why/Why not?

Would you like to settle down in one of the megacities? Why/Why not?

In your opinion, what features would a perfect city have?

Do you think living in a big city can be stressful? Why?

No ook~owdE

TASK 3
Imagine that you have to do a presentation on the most important benefits about living
in a city. Here are some ideas. Talk together about each of the suggestions.

USEFUL EXPRESSIONS

Agreeing

Yes, you’re (absolutely) right about...
I couldn’t agree more that...

| agree entirely with you when you say
Disagreeing

I don’t think it’s true that...

I’m sorry, but I don’t really agree that...
I’m afraid I disagree with you about...
Partly agreeing

I agree with you up to a point about...
I/m not entirely convinced that...



transport

N

entertainment

health service

WHAT ARE THE

ADVANTAGES OF LIVING IN

ACITY?

education

|

cultural activities and

Shopping areas

technology




TASK 1

Unscramble the words given:

Hrrucneai

UNIT 2 WEATHER

Owpdnuor

Orevstca

Glea

Sormt

Stmi

Beerze

Stele

Librdzaz

Lofod

Buslryte

Lghtingin

TASK 2
Match two halves:
1. Freezing
2. Thermometer
Mercury
Wind speed
Mild
Seasonal
Monsoon
Polar
. Climatic
10. Rough
11. Ice
12. Glacial
13. Sea
14. Forked
15. Weather
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TASK 3

Match two halves:
Fossil

Natural
Renewable
Weather
Greenhouse
Carbon

Power
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A. pattern
B. warming
C. rains

D. turbine
E. pollution
F. resources
G. issues

A. zones

B. indicator
C. column
D. winds
E. climate
F. point

G. sheet

H. lightning
J. beaten

K. surface
L. winters
M. screen
N. level

O. variations
P. bed



8. Global H. fuels

9. Natural I. panels

10. Climate J. plant

11. Torrential K. effect

12. Wind L. dioxide

13. Air M. disasters

14. Environmental N. energy

15. Solar O. change

16. Volcanic P. flood

17. Flash Q. ranger

18. Richter R. line

19. Hail S. scale

20. Fault T. stone

21. Forest U. eruption

TASK 4

Circle the odd word out.
1. rainfall wind turbine downpour
2. cycle drought global warming
3. delta gust river bank
4. flames natural gas crude oil
5. agriculture fertilisers current
6. sea level fossil fuels natural resources

TASK 5

Find the definitions for the following words:

Tornado

Blizzard

Thunderstorm

Flash storm

Avalanche

Drought

Earthquake

Famine

Hurricane

Landslide

Tidal wave

Hurricane eye

The Richter scale

Hail stones

Fault line

The magnitude

To feel aftershocks

Barometric pressure
Forecast




Humidity
Meteorologist
Velocity

TASK 6
Complete the words in the sentences.

1. The ground shook and building collapsed during the e .

2. Due to the strong wind, the w spread quickly through the forest.

3. Thet tore down trees and blew roofs off houses.

4. Heavy rain, which made the ground unstable, caused the | .

5. After month with no rain, a terrible d ruined the local farming economy.

6. Four skiers were trapped on the mountain slope by the a

7. Many people died of starvation due to the f

8. Thet was the hugest wave anyone had ever seen.

9. Firefighters in California claim that five people have died in a w near Los
Angeles.

10. The part ofa s that produces the tornado is called the bear’s cage.

11. What kind of e weather do you have in your country?

12. Forest r are constantly on guard for the first sign of a wildfire.

13. Earthquakes are a result of the movement of ‘plates’ in the earth’s c .

14. M Nature’s forces are so bizarre and unexpected that they can only be
described as freaky.

15. The fastest wind s ever recorded occurred during a tornado somewhere in the
USA.

16. When a volcano e , a glowing sea of molten lava often flows down its sides,
destroying everything in its path.

17. The intense h causes the air to rise.

18. Supervolcanoes are probably the most d force on the planet.

19. If you feel under the w , you are a bit ill.

20. A person with their head in the ¢ is not thinking realistically.

21. When something happens as fast as | , it happens extremely fast.

22. Aray of s is something or somebody that makes you feel happier.

23. Huge waves cause f on the coasts.

24. From gentle b to strong gusts, wind is everywhere.

25. The w uproot trees and blow away entire buildings.

26. The correspondent realized he was in deep w when he heard the bomb
explode.

27. Peter is very down to e and realistic about everything.

28. Apparently, it is quite calm in the eye of h

29. It was a huge aftershock after the main e .

30. The earthquake reached a m of 7.2, so it was huge.

TASK 7

Complete the sentences with these words.

fault line flash floods  hail stones hurricane rangers
Richter scale tidal wave volcanic eruption



The biggest earthquake ever recorded measured 9.5 on the
Heavy rain from storms in low-lying areas often produces
Enormous can smash car windows and destroy crops.

A is a huge wall of seawater which crashes onto the shore.
A violent destroyed the city of Pompeii in 79 AD.
Earthquakes frequently occur in areas that are along
A violent storm with very heavy rain is known as a
Sometimes forest fires can be prevented by the actions of

NGO RrWDE

TASK 8
Complete the text with these words.
DAY SHORTENED BY EARTHQUAKE
aftershocks; casualties; crust; disaster;
havoc; magnitude; organisations; warning

In the early hours of February 27, 2010, without (1) , a huge earthquake occurred
in Chile in South America. It was a massive earthquake with a(n) (2) of 8.8.
Buildings collapsed, thousands of people were left homeless and there were hundreds of
3) . It played (4) , but help was provided by several aid
5) . In the following week, there were 180 (6) , even though they
were less powerful than the main quake, they caused further damage in an already weakened
area. But Chile wasn’t the only place to be affected by the quake. Like all earthquakes, it had
been caused by the movement of sections of the Earth’s (7) . Scientists discovered
that this huge movement made the Earth spin faster, which has made the Earth day 1.26
microseconds shorter, so in fact everywhere on the planet has been affected by the

) !

TASK 9

Circle the correct words.

There has been a rise / threat in temperature in recent years.

| have great protection / respect for conservationists.

You ought to try to eat more biological / organic products.

Question his car runs on environmentally friendly / unleaded petrol.

The local residents were exposed / aware to radiation after the explosion.
Are you pessimistic / satisfied about the future of the planet?

The perfume will evaporate / consume if you leave the bottle open.

Climate change is caused by natural habitats /forces and human activity.
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TASK 10

Choose the correct alternative:

1. Young children should be discouraged throwing rubbish in the street.
a. from b. at c. with d. by

2. Can the rescue agency cope all the victims?
a. to b. with c. on d. by



3. Ifrock erodes, it away.

a. wears; b. wakes c. takes d. goes
4. | am not keen going on an eco-holiday.

a. at b. in c. for d.on
5. The ecosystem of the Amazon has suffered badly due to .

a. rubbish b. deforestation C. snow d. sleet
6. It was a damp morning and the cars were covered in

a. frost b. mud C. moisture d. dust
7. WecanrelyonBriantohelpusclean __ the beach.

a. up b. down c. off d. out
8. Don’t go out in that rain.

a. Forked b. blustery c. parched d. torrential
TASK 11
Complete the sentences with the correct form of the words.
1. Carbon dioxide from cars is a major pollutant. EMIT
2. Wind power is a source of energy RENEW
3. The hurricane hit regions in the early hours in COAST
the morning.
4. Due to planting the same crops each year, soil ERODE
has made the land infertile.
5. Photovoltaic or panels use power to generate SUN
electricity
TASK 12

For questions 1-8, read the text below and decide which answer (A, B, C or D) best fits each
gap.

Dear Auntie Emily,

It’s so hot here in Sydney that we’re (1) our tennis game today, so I’m taking the (2)

to write you this long-overdue letter.

Thanks for the Christmas present, which arrived on time. It was just what | wanted.

Dad (3) that we have a traditional British Christmas. How we

4 a hot roast dinner on a day when the temperature (5) 30C, I'll never

know!

We’ve seen pictures of the weather you’ve been (6) over there in the UK, with

snowdrifts and towns being (7) . I hope you are all OK.

Here we’ve had the opposite problem, with soaring temperatures and forest fires in various parts

of the country. Because of (8) winds, they’ve been difficult to put out, and (9)
have been destroyed, including one belonging to a friend of mine. He still hasn’t

(10) the shock.

Fortunately, the wind is (11) and the (12) say that we should be getting

some rain soon. Let’s hope they’re right.

All the best,

Sean




1 A called off B taken off C set off D moved off
2 A place B occasion C opportunity D moment

3 A protested B insisted C said D argued

4 A got on with B got into C got by D got through
5 A reached B peaked C overcame D heated

6 A experiencing B feeling C consuming D tasting

7 A put by B sorted out C cut off D left out

8 A forceful B strong C dynamic D blowing

9 A housing B properties C habitats D works

10 A recovered B suffered from C got over D arrived at
11 A dead B dying down C put down D falling down

12 A forecasters

B astrologers

C navigators

D fortune tellers

TASK 13

Use the words below to complete the following sentences.
tornado thunderstorm

breeze coast

surface landscape

clouds sails

coastal ecosystem

rainfall evaporation

torrential moisture

1. The news report warned everyone to be careful of the rain that would hit the
village.

2. Local residents abandoned their homes as the approached the city.

Low usually means fewer flowers.
. Adventure seekers were warned to be careful on the paths.
. There was a lot of in the air this morning.
. If you look through the telescope, you can see the of the Moon.

. Mary hated the ugly urban of her town and dreamt of leaving.

. The wind filled the of the boat as it cruised around the Aegean.

. When the team got to the top of the hill, a lovely cooled them down.
10. During the , the local post office was struck by lightning.

11. Heat causes the of water.

12. Just look at those dark ; [ think it’s going to start raining.

13. The Smiths have a weekend home on the as they love water sports.
14. An is a community of living organisms.
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TASK 14

Use the words and phrases in the sentences of your own. Enlarge your sentences\ Complete
the sentences with the words and phrases given

bitterly cold mild climate
changeable pouring down
dark clouds stuck by lightning
drought rumble of thunder
global warming scattered showers
gust of wind weather forecast
heavy rain widespread damage
a violent thunderstorm floods

heavy snowdrifts a spell of showery weather
outbreak of snow icy

avalanche torrential rainfall

. It started

. There was

. Because of

. The road was so

. The temperature rose unexpectedly
. The rise in temperature
. As aresult of

. Today’s weather
. We didn’t expect
. Weather scientists claim
. Due to

. According to the
. The weather was so cold
. Many areas
. If this

. It seems as though
. Let’s hope
. Supposing you
. People don’t need
I find it
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TASK 15
Fill each blank with a suitable word from the list. Use each word once only.

atmosphere landfill recycling
congestion litter risk
immunity soil solar heat

fumes layer sewage




chain pressure degrees

1. We are running out of sites in which to bury our rubbish.

2. Walls and roofs need to be well insulated to prevent loss from buildings.

3. Carbon monoxide, present in vehicle exhaust , IS a common cause of air pollution.
4. As we use so many pesticides in farming, some of them may enter the food

5. One way to reduce traffic would be to encourage car-sharing schemes.

6. Where trees have been cut down, there is no longer a natural barrier to prevent

erosion.

7. We’ve formed a group to try to get stronger laws protecting the environment.

8. The holes in the ozone have led to more people getting skin cancer.

9. If people could be persuaded to turn down their central heating by just a couple of :
think of the energy we would save.

10. Scientists believe that energy will be used to produce electricity on a large scale.
11. The use of fossil fuels release gases which pollute the and cause global
warming.

12. To encourage , people should have to pay a deposit on every bottle, which they
would get back when they returned it to the shop.

13. Millions of people risk their every day by drinking polluted water.

14. After a time, pests develop an to chemicals and so even stronger pesticides are
needed.

15. Heavier fines should be imposed to stop people from dropping on the streets.
16. Equipment has been installed to treat before it is discharged into the sea.

TASK 16

For questions 1-8, read the text below and think of the word which best fits each gap. Use
only one word in each gap.

When a pool of water gets hot, the surface begins to evaporate (1) , adding heat and

moisture to the air above. The total air rises and carries the moisture (2) it. When this

moist hot air begins to cool, there is a rainfall. This happens over warm ocean water (3)
the time and in a normal cycle.

Normally, the earth’s warmest water can be found (4) the tropical western Pacific,
with the east-to-west trade winds pushing the warm water toward Asia, (5) the
ecosystem has adapted to the heavy rains that result. Every so often, however, the trade winds
weaken and the warm water ends (6) flowing eastward to the coast of South
America where people are not prepared for the torrential rain that follows.

This is EI Nino, which was at first thought to affect only an area of coastal Peru, but is now

recognized (7) large-scale oceanic warming that affects most of the tropical Pacific, and
(8) meteorological effects extend throughout the Pacific to eastern Africa and
beyond.

TASK 17



For questions 1-8, read the text below and think of the word which best fits each gap. The
initial letter is given.

Without a doubt, environmental (1) p causes huge problems worldwide. It is
time action was taken to reverse its harmful (2) e . The question is, though, are only
governments (3) r for dealing with this issue?

| fully support environmental groups who put pressure on governments to take responsibility for
dealing with companies who (4) p our air, land and (5) w

Governments indeed have an important role to play in making sure that all companies operate
according to green policies and enforce penalties on those who break the (6) |

However, | strongly disagree that governments, alone should take all the responsibility.

In fact, we all have a part to play in ensuring that our world is as clean as possible. For instance,
if we know that a company pollutes the (7) e , we should adopt more
environmentally- (8) f practices in our everyday lives.

To sum up, governments must lead to the way in creating a greener environment. Nonetheless,
we all must accept responsibility for our environment and strive to make the earth a cleaner (9)

p__ .

TASK 18

Complete the sentences with the correct words. The initial and the last letters are given.

1. Where will the animals go if their natural h t is destroyed?

2. The Nile d a flows into the Mediterranean Sea.

3. Agriculture in dry region is impossible without i n.

4. Marry got caught ina d r and was soaking wet.

5. We enjoyed picnic on a grassy b k of the river.

6. The swimmer was swept out to sea by the strong c t.

7. Asudden g t of wind blew away her umbrella.

8. Thef s destroyed everything in their path.

9.C e change refers to changes in weather patterns.

10. F | fuels are formed in the ground from the remains of dead animals and plants.
11. R e energy sources cannot be replaced: once consumed they are gone
forever.

12. Global w g is a gradual increase in the Earth’s surface temperature caused

by the emission of gasses.

13. Natural resources, such as trees that provide us with wood, must be protected from
d n.

14. If you buy r d papper, you will save trees.

15. If the s s hadn’t adapted to life on Earth, it wouldn’t have survived.
16. They couldn’t have survived, if they stayed in the d t.

17. If we reduce ¢ e gas emissions, we will improve the air quality in cities.
18. If we all drove electric cars, there would be less p n.

19. If a species becomes e t, it has been wiped out.

120. S m clouds have gathered and blocked out the sun.

21. Scientists believe that h n activity is making the temperature go up.

22. The greenhouse effect begins with the sun and the e y it sends to the Earth.




23. Arctic sea ice is also m g.

24. Changing weather p s could make huge storms more frequent.

25. H s form over tropical oceans when warm moist air rises and more air
moves in underneath.

26. R s are the lungs of the planet because they absorb carbon dioxide, a
greenhouse gas and produce oxygen

27. Earth is one huge e m and we rely on the forests for our survival.

TASK 19

Complete the blanks with the appropriate word. The initial letter is given.

In the last century, the Earth’s (1) t has risen by nearly one
2d Celsius. This is the result of the process called (3) g warming and
scientists say human activity is the cause. Ever since the Industrial Revolution, fossil (4)
f have been burned to produce energy, releasing (5) ¢ dioxide and other
greenhouse gasses into the (6) a , trapping heat near the Earth. Scientists say that
very warm years like 1998 and 2005 provide (7) e of global warming.

The area covered by the Arctic (8) s ice has also decreased in the last 30 years. If we
continue to use fossil fuels, the (9) a of greenhouse gasses will continue to rise.
Researchers predict that temperatures will increase six degrees Celsius by the end of the century.
There are many possible consequences for the environment. Some (10) ¢ models say
there will only be slight changes, others predict floods in
(1)) c areas, more hurricanes and extreme (12) d in warm areas. Animals
which may not be able to adapt could become extinct.

Governments and corporations can help by greenhouse gas (13) e . We can help by
saving (14) e around the house and driving cars less.

TASK 20

Fill each blank with an appropriate word.

REDUCING HOUSEHOLD WASTE
We are running (1) of spaces where we can dispose (2) the rubbish we
produce, so it is vital to think about the extent to (3) we can reuse and recycle
household waste.
When we go shopping, we should take our own bags rather than get even more plastic bags from
the shop. We also need to look for products that are sold in reusable containers, (4) as
washing powder and liquids. (5) of buying goods that we soon throw away, we need
to choose items that will last for a reasonable amount of time and are able to be repaired. It
makes economic sense, as well.

Old clothes, books and toys (6) good condition can be passed on to charity shops.
Some charitable organizations will also come and collect suitable furniture.

Our aim should be to recycle as (7) products as possible. Glass bottles, cans and
newspapers are (8) the items that can be reprocessed. (9) you have a
garden? Then turn your vegetable peelings and other organic waste (10) compost.
By buying products made from recycled materials and (11) down on waste, we

can’t set an (12) and help to conserve the resources of our planet.



TASK 21
For questions 1-8, read the text below and decide which answer (A, B, C or D) best fits each
gap.

HURRICANES

Most people have heard of Hurricane Katrina, but (1) exactly is a hurricane and what
can we do to (2) ourselves?

Hurricanes are enormous tropical storms which form over really warm oceans, but never very (3)

to the equator. What is interesting (4) them is that the longer they stay at
sea, the stranger they become, because they collect power from their contact with warm water.
They can (5) for over a week. The centre of the storm is called the ‘eye’ of the
hurricane and it is the calmest part, but around the eye the (6) strong winds, heavy
rains and huge waves (7) cause a lot of damage.

In areas where hurricanes happen, it is a good idea to have a first aid kit at all times, and to (8)
some cans of food and bottles of water in a safe place. You should also have a radio
and extra batteries to listen to weather forecast and the news.

9 there is a hurricane warning, get indoors immediately. During the hurricane, stay
indoors and keep away from windows (10) the strong winds may carry things that will
break them and cause injuries. After the hurricane has passed, (11) walking in
flooded areas as the water might be dangerous. Try to help injured and trapped people, but do not
risk your own safety. Do not drink tap water until you are told that it is clean.

1. A what B where C why D who
2. A protect B defend C rescue D advise
3. A nearby B short C close D distant
4.Ain B to C about D for

5. Aend B last C take D run

6. A slightly B extremely C totally D completely
7. Acan B should C must D would
8. A keep B hold C carry D get

9. A Unless B If C Until D While
10. A when B although Cso D as

11. A keep B prevent C start D avoid
TASK 22

THE PERILS OF PLASTIC

Plastic is everywhere. We use it make cups, toothbrushes, pens, combs, bottles — the list

is (1) . Unfortunately, a lot of plastic ends up in the oceans and it has END
created an ecological disaster.

A lot of plastic rubbish in oceans comes from land. That includes the litter that people

leave along (2) areas and the rubbish that gets washed out to sea after COAST

3 rain. Plastic rubbish in the oceans and on beaches harms sea TORRENT
animals of every size, from microscopic organisms to whales. To sea turtles, which



are a(n) (4) species, a floating plastic bag looks identical to a DANGER
jellyfish, their favourite food, but it will kill them.

Scientists are looking for (5) , but we can help by being SOLVE
(6) friendly. Firstly, we should keep beaches clean. ENVIRONMENT
Secondly, we should be (7) from using more plastic. We can COURAGE
bring (8) bags to the supermarket and drink from refillable bottles. REUSE
And, more (9) , We ought to IMPORTANT
(10) plastic whenever possible. CYCLE
SPEAKING

TASK 1

Give the answers to the questions suggested. Talk for about a minute to express your

ideas.

1. What kind of extreme weather conditions does your country suffer from? Have you ever
experienced it first-hand?

How important is it to know about weather patterns of different countries?

Are you weather dependent?

Are people becoming more concerned about the weather change? Why/Why not?
How can people be encouraged to care about the environment?

Do you think that there is nothing we can do to stop natural disasters?

Would you be prepared to work or live in extreme weather situations? Why/Why not?
Why is it essential to have more green space in big cities?

Have you ever taken part in an environmental project?

10 Which regions in your country get which type of weather?

11. Do any regions get extreme weather?

12. Has the climate changed over the last 10 years in your country?
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TASK 2
Imagine that you have to do a presentation on the most important benefits about being
environmentally-friendly. Here are some ideas. Talk together about each of the suggestions.

USEFUL EXPRESSIONS

Agreeing

Yes, you’re (absolutely) right about...
I couldn’t agree more that...

| agree entirely with you when you say
Disagreeing

I don’t think it’s true that...

I’m sorry, but I don’t really agree that...
I’'m afraid I disagree with you about...
Partly agreeing

I agree with you up to a point about...
I/m not entirely convinced that...



Cycle to school/work

Recycle plastic and
other materials

Install solar
energy at home

Turn off electrical
appliances

HOW COULD YOU BECOME

MORE I

ENVIRONMENTALLY FRIENDLY?

Have a
vegetable
garden

activist group

Go on protests / join an




TECTHA
UNIT 1: Living in a Megacity

TYPE |
1. Make the derivative word from the word in brackets to fill in the gap
The skyline of the once populated ‘one square mile’ City used to be outlined by

church spires and Christopher Wren’s great cathedral of St. Paul (density)

2. Make the derivative word from the word in brackets to fill in the gap
Over the last 200 years, the growing population of the capital spilled out beyond the borders
of the original (settle)

3. Make the derivative word from the word in brackets to fill in the gap
The port is now further down the estuary at Tilbury. The area was and revitalized
(develop)

4. Make the derivative word from the word in brackets to fill in the gap
International Mime Festival takes place at arts venues across central London and draws
from all over the world (perform)

5. Make the derivative word from the word in brackets to fill in the gap
The Tube is entirely only in central London; in the suburbs most lines are above
ground (ground)

6. Make the derivative word from the word in brackets to fill in the gap
An motorway, the M25, from which motorways radiate into London and off
across Britain, rings the outskirts of London (orbit)

7. Make the derivative word from the word in brackets to fill in the gap
The government wished to limit on the roads (congested)

8. Make the derivative word from the word in brackets to fill in the gap
public transport is traumatizing passengers (crowd)

9. Make the derivative word from the word in brackets to fill in the gap
NY is the most exciting and city in the world (change)

10. Make the derivative word from the word in brackets to fill in the gap
Greenwich Village and the East Village have always been at the center of New York’s
(exciting)

11. Make the derivative word from the word in brackets to fill in the gap
Chicago is a port for both domestic and international trade (signify)



12. Make the derivative word from the word in brackets to fill in the gap
Los Angeles is also famous for its balmy climate, lush , television industries,
freeways and occasional earthquakes (scenic)

13. Make the derivative word from the word in brackets to fill in the gap
Walking along the streets, she was wondering at the amount of people at this
early hour (teem)

14. Make the derivative word from the word in brackets to fill in the gap
The new shopping center is meant primarily for customers (heel)

15. Make the derivative word from the word in brackets to fill in the gap
Best of all, enjoy a quick commute to work as opposed to a lag through Tokyo
traffic (residential)

16. Make the derivative word from the word in brackets to fill in the gap
The Norman of 1066 was marked by the construction of the mighty Tower of
London (invade)

17. Make the derivative word from the word in brackets to fill in the gap
has declined since the war, now accounting for just 2 per cent of journeys

(bicycle)

18. Make the derivative word from the word in brackets to fill in the gap
In NY alone, for example, there are some 12,000 artists and who are supporting
themselves from their work (sculpture)

19. Make the derivative word from the word in brackets to fill in the gap
Washington is also the heart of a dynamic region (metropolis)

20. Make the derivative word from the word in brackets to fill in the gap
Other tourist are the Farmer’s Market, New Chinatown, Little Tokyo, and the
movie studios in Hollywood (attractive)

TYPE II

1. Fillin the missing word
Now ‘one square mile’ City also features blocks, and its permanent population
has decreased to some 4,000 people.

2. Fill in the missing word
Many tributaries of the (the longest river in Britain, 210 miles) were buried

under streets and houses where some still run as a part of the sewer system.




10.

11.

12.

13.

14.

Fill in the missing word
The poor working class districts, which sometimes were called ‘shanty town’ or
¢ >, became known as the East End.

Fill in the missing word
In the West End there are sights as Buckingham Palace, Big Ben, Westminster :
London Bridge, etc.

Fill in the missing word
Big Ben is a clock of the British Houses of Parliament

Fill in the missing word
London Stock is the world’s major center where trading in stocks and shares is
conducted.

Fill in the missing word
The city’s (London’s) story is a fascinating one, its destiny closely connected with that of the
Isles.

Fill in the missing word
By 1700 London’s had passed the half million mark, ranking it with Paris and

Naples as one of Europe’s three largest cities.

Fill in the missing word
From Grand Victorian termini in the center of London trains run across the country, linking

cities, towns, ports and the continent through the Channel

Fill in the missing word
The underground or metro system in London is known locally as the *

Fill in the missing word
Now you can travel to Continental Europe by ferries, trains, air and Eurostar high

speed trains.

Fill in the missing word
Washington, D.C., city and district, capital of the

Fill in the missing word
The oldest federal building in Washington is the , an official residence of the

U.S. president.

Fill in the missing word
Manhattan is divided into the East Side and the West Side. The dividing line is Fifth



15. Fill in the missing word
Chicago covers a land area of 588.2 sq km and stretches 47 km along Lake

16. Fill in the missing word
is the city in south-western California located on the Pacific Ocean and famous
for Hollywood.

17. Fill in the missing word
Lisa couldn’t see through the glass who was inside the car.

18. Fill in the missing word
Rural population tends to to big cities.

19. Fill in the missing word
There were no vacant places in the parking

20. Fill in the missing word
Poverty, crime, homelessness and drug are endemic in areas that have
undergone rapid industrialization and urbanization.

TYPE I
1. Choose the correct answer:
Being one of the world's first great industrial , London used to be badly polluted.
A. metropolises
B. hamlets
C. shanty towns
D. villages

2. Choose the correct answer:
The coast was full of poor fishing villages and that were abandoned by their
inhabitants.

A. cities

B. hamlets

C. metropolises

D. capitals

3. Choose the correct answer:
Many immigrants have to live in or half-ruined slums.
A. cities
B. shanty towns
C. metropolises
D. municipalities



4. Choose the correct answer:
Canberra is the city of Australia.
A. capital
B. urban
C. rural
D. shanty
5. Choose the correct answer:
The smoking ban was first introduced in southern of New Mexico but within a year it
was officially accepted statewide.
A. hamlets
B. cities
C. municipalities
D. capitals

6. Choose the correct answer:
Cambridge is the of Cambridgeshire.
A. shanty town
B. satellite town
C. hamlet
D. county town
7. Choose the correct answer:
A large Roman has been discovered within several kilometres of the French town.
A. settlement
B. slums
C. municipality
D. hamlet

8. Choose the correct answer:

Our farm was located a few miles south of the
A. satellite
B. urban
C. skyline
D. village

9. Choose the correct answer:
She drove the car round the to charge up its batteries.
A. skyline
B. cycle route
C. walkway
D. block

10. Choose the correct answer:
| used to live in a friendly
A. neighbourhood



B. walkway
C. ghetto
D. common land

11. Choose the correct answer:

An increased level of unemployment has caused an upsurge of violence in the
A. cycle route
B. skyline
C. district
D. ward

12. Choose the correct answer:
The voter turnout in most is expected to higher than during the previous elections.
A. ghettos
B. blocks
C. neighbourhood
D. precincts

13. Choose the correct answer:
Violence and poverty have become attributive features of New York’s
A. precincts
B. wards
C. hamlets
D. ghettos

14. Choose the correct answer:
The Bronx, Brooklyn, Manhattan, Queens, and Staten Island are the of New
York.

A. boroughs

B. precincts

C. wards

D. neighbourhoods

15. Choose the correct answer:
The factory was located on the of the town.
A. suburb
B. outskirts
C. neighbourhood
D. ward

16. Choose the correct answer:
In several minutes they drove from middle-class to a poor inner-city area.
A. outskirts
B. wards
C. suburbs
D. metropolis



17. Choose the correct answer:
From the Statue of Liberty you can enjoy the magnificent view on the New York
A. common land
B. park land
C. walkway
D. skyline

18. Choose the correct answer:
The former lands were recultivated and turned into new industrial premises.
A. park
B. derelict
C. cycle
D. skyline

19. Choose the correct answer:
The pedestrians could enjoy the view of the mighty river strolling along reconstructed

skylines
walkways

locks

business centers
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20. Choose the correct answer:
The river was wide and full of water and there was only one place where it could be safely

A. Tidal
B. Tributary
C. Estuary
D. forded

21. Choose the correct answer:

What is the most important of the Amazon River?
A. tributary

B. skyline

C. tidal

D. bottom

22. Choose the correct answer:

As you know, the Thames is a river.
A. tributary

B. estuary

C. tidal

D. mountain

23. Choose the correct answer:



is the place where river water and seawater mix.

tributary
ford
estuary
tide

oCOowpp

24. Choose the correct answer:

The city was famous for its medieval that attracts millions of tourists.
A. cathedral

B. dockland

C. office block

D. industrial premises

25. Choose the correct answer:

The of cathedrals and churches shape the skyline of the city and make it
recognizable all over the world.

A. wharfs

B. venues

C. racecourses

D. spires

26. Choose the correct answer:
They had to keep the goods in a for months because the city was affected by the
strike that prevented any form of distribution.

A. spire

B. abbey

C. racecourse

D. warehouse

27. Choose the correct answer:
Westminster is one of the most memorable landmarks of London.
A. Abbey
B. Cathedral
C. Wharf
D. Dome

28. Choose the correct answer:
The was full of cargo ships waiting for being loaded with goods.
A. wharf
B. cathedral
C. art venue
D. spire

29. Choose the correct answer:
Incorporating the water element into the entire design process of boutiques and shops, this
will be iconic to its city and the region.



A. spire

B. wharf

C. retail centre
D. abbey

30. Choose the correct answer:
A huge cargo ship sailed into the to be refitted.
A. racecourse
B. retail centre
C. tower
D. dock

31. Choose the correct answer:

The of London was founded by William the Conqueror as his royal residence.

A. Cathedral
B. Tower
C. Abbey
D. Palace

32. Choose the correct answer:

This district of the city was populated and the residents had to the experience a

considerable lack of available accommodation.
A. densely

B. scarcely

C. lively

D. annually

33. Choose the correct answer:
The first settlement was established on this territory during the Roman
conquest.
A. permanent
B. continuous
C. annual
D. bustling

34. Choose the correct answer:

Chelsea Flower Show is an event that attracts hundreds of participants and

admirers.

A. bustling
B. annual

C. outlying
D. permanent

35. Choose the correct answer:
Did you know that King Lud is a founder of London?
A. bustling



B. permanent
C. mythic
D. established

36. Choose the correct answer:

This scratched and

A. weather-bitten
B. spectacular

C. annual

D. impressive

37. Choose the correct answer:
There is no doubt that the cathedral is one of the most spectacular examples of

architecture.
A. annual

B. mythic

C. medieval

D. scratched

38. Choose the correct answer:
After moving to the quiet countryside I really missed the noise of the city.

D.

A. bustling

B. mythic

C. weather-beaten
scratched

39. Choose the correct answer:
It was a ruler who imposed his authority all over the country.

40.

41.

A. annual
B. impressive
C. mythic
D. mighty

Choose the correct answer:

statue attracted little attention of tourists.

The Tower of London is guarded by the , the people who look after this
construction and keep its ancient secrets.

A. growers

B. beefeaters
C. artists

D. chroniclers

Choose the correct answer:
There were a lot of

who sincerely enjoyed the performance.

A. spectators
B. chroniclers
C. performers



42.

D. design talents

Choose the correct answer:

Every good should take care of the people and the country he or she rules.
A. chronicler

B. beefeater

C. monarch

D. mayor

43. Choose the correct answer:

Royal Society conducts one of the most famous festivals that enable
gardeners to demonstrate their achievements.

A. Navy

B. Fleet

C. Sport

D. Horticultural

44. Choose the correct answer:

Swan is the holiday that is based on the long-lasting traditions of the United
Kingdom.

A. Setting

B. Upping

C. Lifting

D. Guiding

45. Choose the correct answer:

London was one of the biggest cities in Europe when Edward |1 the throne.
A. ascended

B. came

C. ruled

D. conquered

46. Choose the correct answer:

With the fall of the Roman Empire, Londinium was by its inhabitants.
A. flourished

B. tripled

C. abandoned

D. survived

47. Choose the correct answer:

The epidemic of bubonic plague London.
A. ascended

B. conquered

C. devastated

D. invaded




48. Choose the correct answer:
The urban outlook of the city was by numerous parks and green places.
A. enlivened
B. devastated
C. preserved
D. established

49. Choose the correct answer:
The Thames provides easy access to the European
A.island
B. mainland
C. country
D. mainstay

50. Choose the correct answer:

Wembley holds all major football matches.
A. stadium
B. hall
C. tennis court
D. circus
TRANSPORT SYSTEM

1. Choose the correct answer:
The hotel was located in the green area of the city that was ideal for jogging and

interchanging
crossing
overcrowding
cycling

OO0Ow>

2. Choose the correct answer:
A bus a real symbol of London.
A. ferry
B. coach
C. double-decker
D. shuttle

3. Choose the correct answer:
You should start your trip by taking the across the Channel and then take a
train to Paris at Calais.
A. ferry
B. coach
C. bus
D. tram



10.

Choose the correct answer:

The company used refrigerated to supply retailers and wholesalers.
A. ferries

B. lorries

C. coaches

D. bicycles

Choose the correct answer:

The center of the city is a pedestrian area and there is no way through it in a
A. bicycle

B. ferry

C. vehicle

D. underground

Choose the correct answer:

While getting to the airport, | always use a train. It is fast and convenient.
A. shuttle

B. rolling

C. orbital

D. underground

Choose the correct answer:

It is impossible to imagine a modern city without the system of
A. shuttle train

B. charter flights

C. ferry ports

D. public transport

Choose the correct answer:

Locomotives, coaches, private railroad cars and wagons are the main constituent elements of
the

A. public transport

B. orbital motorways

C. bus services

D. rolling stock

Choose the correct answer:
London is one of the most important
A. international hubs

B. congestion sites

C. metro links

D. routes

Choose the correct answer:
What is the place of your final ?
A. network




11.

12.

13.

14.

15.

16.

B. destination
C. extension
D. destiny

Choose the correct answer:

Road, rail, and air services offer convenient between the capital and the other

parts of the country.
A. joins

B. links

C. commodities
D. connections

Choose the correct answer:
The M25 is an

A. orbital
B. circular

C. round

D. underground

Choose the correct answer:
The new Channel

mainland Europe.
A. tube

B. land

tunnel

D. airport

Choose the correct answer:

motorway that has a high level of traffic congestion.

is the most convenient way to get from Britain to

journeys take up to 70% of all trips made by the citizens of the UK.

A. Home
B. House

. Intercontinental

D. Domestic

Choose the correct answer:
Where is the main bus

in your city?

A. interchange
B. lane
C. airport
D. link

Choose the correct answer:

With the population of more than 10 million people and the abundance of cars, the city had

to face constant traffic




17.

18.

19.

20.

A. termini

B. traumas

C. interchanges
D. jams

Choose the correct answer:

Chronic in the rolling stock caused serious problems in the system of

public transport.

A. overcrowding
B. interchange

C. underinvestment
D. traumatizing

Choose the correct answer:

The accident caused the on the road.
A. congestion

B. jam

C. underinvestment

D. departure

Choose the correct answer:

Because of disruption caused by the blizzard, many faced long and tiring delays.
A. termini

B. conductors

C. congestions

D. commuters

Choose the correct answer:

Did you know that there are in London?
A. tram-only line

B. passenger-only street

C. car-drive

D. bus-only lane

FROM SEA TO THE SHINING SEA
1. Choose the correct answer:
Washington is the of the United States.
A. state
B. metropolis
C. capitol
D. capital




2. Choose the correct answer:

Washington is to many famous and interesting public buildings and
monuments.

A. home

B. house

C. place

D. location

3. Choose the correct answer:

The White House is the oldest building in Washington.
A. state

B. federal
C. local
D. public

4. Choose the correct answer:

The White House is the official of the US President.
A. home

B. residence
C. palace

D. castle

5. Choose the correct answer:

The Mall is the most park in Washington.
A. official

B. public

C. prominent

D. local

6. Choose the correct answer:

The Mall such demonstrations and events as the National Cherry Blossom
Festival, Columbus Day, and the Fourth of July.

A. hosts

B. holds
C. hides
D. takes

7. Choose the correct answer:
New York is the city of
A. migrants

B. emigrants

C. immigrants

D. migration

8. Choose the correct answer:
New York people from all over the world.




moves
rushes
attaches
attracts

CoOw>

9. Choose the correct answer:

How many are there in New York? There are five of them.
A. neighbourhoods

B. districts

C. boroughs

D. wards

10. Choose the correct answer:

Fifth Avenue is the line between the East Side and the West Side.
A. dividing

B. sharing

C. limiting

D. constructing

REVISION

. Choose the correct answer:

The Romans established London at the point where the Thames was shallow enough to be

A. swum
B. floated
C. forded
D. gone through

. Choose the correct answer:

The city used to be populated.
A. tightly

B. over

C. under

D. densely

. Choose the correct answer:

Within the time the derelict land of the East End was
A. redecorated

B. renewed

C. revitalized

D. rebuilt

. Choose the correct answer:

The population of London tripled under the of the Tudor dynasty.
A. coronation

B. reign

C. defeat



D. living

5. Choose the correct answer:
Along with the local services and orbital links around London suburbs, buses also provide

A. rail services

B. commuter services
C. underground services
D. through services

6. Choose the correct answer:
Washington is considered to be to many famous monuments and institutions.
A. house
B. dwelling
C. home
D. apartment

7. Choose the correct answer:

Chicago is one of the nation’s leading of steel, medical appliances,
industrial machinery and sporting goods.

A. supply

B. supplements

C. warehouse

D. producers

8. Choose the correct answer:
Los Angeles a land area over 1000 square kilometers.
A. stretches
B. covers
C. spreads
D. consist

9. Choose the correct answer:
After the Roman of Britain in 43 AD they built a bridge across the Thames.
A. appearance
B. coming
C. invasion
D. going

10. Choose the correct answer:
New York people from all over the world.
A. attracts
B. magnify
C. glances at
D. look ahead

11. Choose the correct answer:
White House is the residence of the U. S. president.
mythic
official
home
city

COow>



12. Choose the correct answer:
For many centuries the Thames was the main mainstay of the trade.
through seas
all seas
oversee
overseas

COow»

13. Choose the correct answer:

British transport services offer good between the capital and other
cities of the country.

A. commuters

B. connection

C. orbital

D. termini

14. Choose the correct answer:
It is a significant port for both and international trade.
A. house
B. urban
C. domestic
D. inner

15. Choose the correct answer:
The plague of the 14th century carried off a third of the of London.
A. people
B. popular
C. population
D. hamlets

16. Choose the correct answer:
Many buildings in the East End were redeveloped into industrial
A. premises
B. apartments
C. shanty towns
D. slums

17. Choose the correct answer:
London is believed not to have a specific date.
A. founder
B. foundation
C. significance
D. founding

18. Choose the correct answer:
Many of the Thames were buried under streets and houses.
A. estuaries
B. vessels
C. floods
D. tributaries

19. Choose the correct answer:



The new mall was meant only well-heeled customers.
for

according

at

to

COow»

20. Choose the correct answer:
Scientists note that the rural population migrate big cities.
A.on
B.to
C. at
D.out

21. Choose the correct answer:
It goes without saying that life in megacities is longer than in smaller
ones.
A. expectation
B. expectant
C. expectancy
D. expect

22. Choose the correct answer:
She had been browsing the toy store for 2 hours.
A. through
B. around
C. at
D. over

23. Choose the correct answer:
John is looking for a new to share the rent and bills.
A. resident
B. landlord
C. flatmate
D. inhabitant

24. Choose the correct answer:
Inner areas can be dangerous.
A. urban
B. borough
C. precinct
D. district

25. Choose the correct answer:

Car can’t park in a(n) area.
environmental

pedestrian

zebra

conventional

COow>



26. Choose the correct answer:
Let’s the town red tonight!
A. deal
B. lead
C. catch
D. paint

27. Choose the correct answer:
Why didn’t it stop? The was red.
A. junction
B. parking meter
C. pavement
D. traffic light.

28. Choose the correct answer:
The city is pressure to build more schools.
behind
under
in
at

0O w»

29. Send your complaints to the mayor at the
A. ghost town
B. town hall
C. sister city
D. outskirts

30. Choose the correct answer:
Do you know what the population of Madrid is?
A. race
B. space
C. density
D. lane



UNIT 2 Weather
TYPE |

1. Make the derivative from the word in brackets to fill in the gap:
There will be a of showers developing during the afternoon. (scatter)

2. Make the derivative from the word in brackets to fill in the gap:
space satellites and ships provide valuable information. (meteorology)

3. Make the derivative from the word in brackets to fill in the gap:
A weather woman is a female . (meteorology)

4. Make the derivative from the word in brackets to fill in the gap:
Precipitation occurs all year but is highest in summer when thunderstorms
occur. (common)

5. Make the derivative from the word in brackets to fill in the gap:
Two farm workers were struck by . (lighten)

6. Make the derivative from the word in brackets to fill in the gap:
The mercury column is a substance which moves up and down the column
showing how cold or hot it is. (chemistry)

7. Make the derivative from the word in brackets to fill in the gap:
Factors affecting temperature can include altitude, latitude and to sea. (near)

8. Make the derivative from the word in brackets to fill in the gap:
subdivisions depend on distance from the sea. (climate)

9. Make the derivative from the word in brackets to fill in the gap:
Ice shelves are because of the warming trend. (appear)

10. Make the derivative from the word in brackets to fill in the gap:
The third component of Antarctic ice is a thin ___ of frozen ocean, or sea ice, that grows and
shrinks with the seasons. (lay)

11. Make the derivative from the word in brackets to fill in the gap:
The English garden could be transformed into a Mediterranean

landscape of olive grove. (tradition)

12. Make the derivative from the word in brackets to fill in the gap:
There was a thick of mist on the surface of the river. (coat)

13. Make the derivative from the word in brackets to fill in the gap:
Yesterday we had clouds with a dark base and spreading. (tower)




14. Make the derivative from the word in brackets to fill in the gap:
I don’t like days. (wind)

15. Make the derivative from the word in brackets to fill in the gap:
The south Atlantic flash was like the prolonged sequence from a nuclear
(explode)

16. Make the derivative from the word in brackets to fill in the gap:
He had an record of conflicts with Jupiter. (impress)

17. Make the derivative from the word in brackets to fill in the gap:
Hurricane is a violent storm with strong winds and heavy rain. (extreme)

18. Make the derivative from the word in brackets to fill in the gap:
Have you ever seen forked ? (lighten)

19. Make the derivative from the word in brackets to fill in the gap:
The point is the temperature at which a liquid starts to boil. (boil)

20. Make the derivative from the word in brackets to fill in the gap:
We can expect a few showers on the northern hills. (winter)

TYPE I
1. Fill in the missing word
There is nothing around except the sand and the ecarth. (It’s a desert)

2. Fill in the missing word
The rain had lessened, but the sky remained , the sun was not seen.

3. Fill in the missing word
He looked (unwell), did not he?

4. Fill in the missing word
means being stronger after having passed hardship.

5. Fill in the missing word
The of the water was just right for swimming.

6. Fill in the missing word
Lines on the globe show the world divided on the basis of temperature into three types of
climatic zone: 1) polar, 2) and 3) tropical.

7. Fill in the missing word
Deluge is the synonym to




8. Fill in the missing word
Yet it was not really cold here; the temperature was well above point.

9. Fill in the missing word
In warmer temperatures, evaporation of ocean water increases and more snow

10. Fill in the missing word
Tensions in the neighborhood reached a point.

11. Fill in the missing word
Forests which have been damaged by rain (caused by chemicals in the air) are
now being revitalized.

12. Fill in the missing word
Rain fell steadily for an hour, accompanied by and lightning.

13. Fill in the missing word
Adam was on nine after the birth of his son.

14. Fill in the missing word
The seminar is intended to educate them on climatic change and global

15. Fill in the missing word
The Beaufort scale gives standard descriptions and speeds corresponding to
each number in the table.

16. Fill in the missing word
The has melted and the ground is bare once more.

17. Fill in the missing word
It was a beautiful day with a blue sky and a gentle

18. Fill in the missing word
To means to cover a place with water, or to become covered with water.

19. Fill in the missing word
The amount of snow that falls in a particular period of time is called

20. Fill in the missing word
We could just see the outline of the house through the




TYPE Il

1. Choose the correct answer:

The of the water was just right for the baby to take a bath.
A. column

B. temperature

C. thermometer

D. scale

2. Choose the correct answer:

The storm was accompanied by the impressive
A. fox lightning

B. forded lightning

C. flash lightning

D. forked lightning

3. Choose the correct answer:

The clouds were enough to see the sun.
A. transparent

B. transparency

C. transparently

D. transport

4. Choose the correct answer:

Outside it was a cold day, but Anne felt safe and warm inside by the fire.
summery

wintry

polar

subtropical

OCOw>

5. Choose the correct answer:

The average annual temperature in Great Britain is about 10 Celsius.
A. points

B. calories

C. degrees

D. scale

6. Choose the correct answer:

The river occasionally becomes a ___ after a downpour, and may even cause flooding.
drizzle

flood

falls

torrent

COow>

\‘

. Choose the correct answer:

A lot of (amount of rain/snow that falls) is typical for this area.
sleet

B. drizzle

C. downpours

D. precipitation

>

o

Choose the correct answer:



It is natural for to melt in such hot conditions.

Cow>

(o]

gales

greenhouse gases
blusters

glaciers

Choose the correct answer:

The trees and roofs of houses were covered with after the cold winter night.

COow>

10.

hoar frost
frosty
hail
hoary

Choose the correct answer:

The heavy are forecast on the whole territory this week.

COow>

14.

15.

icebergs

ice sheets
ice sheets
snowfalls

. Choose the correct answer:

The heat today is really oppressive (unpleasantly hot), the temperature has risen to 37°C
zero.

below

above

under

up

. Choose the correct answer:

After months of dry weather the soil needed heavy rains.
sticky

parched

bright

foul

. Choose the correct answer:

There was a lot of snow after the
A. flood

B. downpour

C. hail

D. blizzard

Choose the correct answer:

This liquid freezes at the temperature of 10°C zero.
A. below

B. up

C. above

D. under

Choose the correct answer:
The scientists claim that ice are disappearing because of global warming.
A. meteors



16.

17.

18.

19.

20.

21.

22.

B. shelves
C. streams
D. surface

Choose the correct answer:

Outside there was snow and along the streets and sidewalks.
A. slush

B. breeze

C. hurricane

D. typhon

Choose the correct answer:

The in this country caused a lot of damage and deaths of citizens.
A. ice sheet

B. breeze

C. drizzle

D. hurricane

Choose the correct answer:

It was too dark to see anything on the thermometer
A. screen

B. degree

C. temperature

D. calorie

Choose the correct answer:

The promised showers during the whole week.
A. forecast weather

B. weather glass
C. weather forecast
D. weather vane

Choose the correct answer:
Mild winters and hot, dry summers are typical for the Mediterranean

A. equator

B. latitude
C. climate
D. hemisphere

Choose the correct variant:

A period when it suddenly rains a lot is called
A. blustery

B. downpour

C. blizzard

D. flood

Choose the correct variant:

The night was extremely cold and
A. blustery

B. downpour

C. blizzard



23.

24,

25.

26.

217.

28.

29.

D. flood

Choose the correct variant:

Heavy rains caused the that devastated a bigger part of the country.
A. blustery

B. downpour

C. blizzard

D. flood

Choose the correct variant:
We didn’t get out for three days after the was over since the houses were
blocked with snow.

A. blustery

B. downpour

C. blizzard

D. flood

Choose the correct variant:

The forecast warned about severe in the eastern district of the state.
A. gales

B. sleet

C. overcast

D. mist

Choose the correct variant:

The sky was and there was not a single sunray.
A. gales

B. sleet

C. overcast

D. mist

Choose the correct variant:

I don’t like March because is its attributive feature in our region.
A. gales

B. sleet

C. overcast

D. mist

Choose the correct variant:

There was no rain for more than a month and the land was
A. soft

B. fertile

C. cultivated

D. parched

Choose the correct variant:

The west of England remained dry with bright sunny
A. gales

B. breezes

C. spells

D. spots



30.

31.

32.

33.

34.

35.

36.

Choose the correct variant:

The weather forecast promised a nice day with showers.
A. scattered

B. spread

C. spelt

D. scrambled

Choose the correct variant
forms of energy like wind and solar power are catching on.
A. Fossil
B. Greenhouse
C. Renewable
D. Global

Choose the correct variant

The sudden flooded the whole region.
A. downpour

B. drought

C. draught

D. gust

Choose the correct variant

This charity helps victims natural disasters.
A. to

B. from

C. on

D. of

Choose the correct variant
levels are rising due to global warming
A. Sea
B. Coastal
C. Rainfall
D. Crude

Choose the correct variant

The lake because of sub-zero temperatures.
A. wore away

B. froze over

C. wiped out

D. blew over

Choose the correct variant

Are these crops modified?
A. environmentally

B. falsely



C. genetically
D. deadly

37. Choose the correct variant

The river was strong and the canoe moved quickly.

A. current
B. bank
C. delta
D. cycle

38. Choose the correct variant
Soil is a major agricultural problem here.
A. erosion
B. emission
C. deforestation
D. forces

39. Choose the correct variant
Don’t be so about the future of the planet!
A. pessimistic

B. exposed

C. aware

D. keen

40. Choose the correct variant
Chemical in food are dangerous to our health.
A. organisms
B. fertilisers

C. resources
D. gases

41. Choose the correct variant

The writer felt the weather, so he didn’t do any work that day.

A. over
B. under
C. in
D. at
42. Choose the correct variant
Lots of organisations help people in areas where natural
A. troubles
B. problems

C. disasters
D. accidents

43. Choose the correct variant

have happened.



An earthquake is one of the most forces of nature.
A. destroying
B. destroyed
C. destructive
D. destructing

44. Choose the correct variant
How are hurricanes different from normal ?
A. thunderstorms
B. floods
C. tornadoes
D. winds

45. Choose the correct variant
waves can be extremely powerful.

A. Current
B. Tidal

C. Rotten
D. Coastal

46. Choose the correct variant
The Earth’s is moving all the time.
A. crust
B. surface
C. face
D. pole

47. Choose the correct variant

Heavy rains caused floods and in the area which covered the village.
landslides

avalanches

SNOWS

hurricanes

OoOw>

48. Choose the correct variant

The resulted in a metre of snow and damage to many houses in the town.
sleet

blustery

mist

blizzard

OOw>»

49. Choose the correct variant

A massive destroyed the whole city as it blew through it.
A. hail
B. downpour
C. tornado



D. gale

50. Choose the correct variant

A burnt huge expanses of the woods last year.
A. wildfire
B. thunderstorm
C. lightning
D. gust

51. Choose the correct variant
Reporters were shocked by the of the damage which the earthquake had caused.
A. figure
B. quantirty
C. magnitude
D. measurement

52. Choose the correct variant
The unfortunate skiers were killed by a(n)
A. drought
B. tidal wave
C. avalanche
D. volcano

53. Choose the correct variant
Locals were told to stay indoors after the government issued a warning.
A. hurricane
B. destruction
C. havoc
D. wind

54. Choose the correct variant
Many people were expected to die of hunger in the famine which followed the long
A. drought
B. draught
C. heatwave
D. landslide

55. Choose the correct variant
The flash floods were the result of a heavy
A. fault line
B. hailstorm
C. aftershock
D. thunderstorm

56. Choose the correct variant
One metre of snow fell during the




flash flood
tsunami
eruption
snow storm

OCoOw>

REVISION

1. Choose the correct variant
(rain or snow) varies considerably from place to place.
A. Precipitation
B. Showery
C. Downpour
D. Sleet

2. Choose the correct variant
Near the , temperatures are hot all the year.
A. hemisphere
B. equator
C. circle
D. pole

3. Choose the correct variant
These climates take their name from winds blowing onshore or offshore according
to the season.

A. dry

B. blustery

C. monsoon

D. stormy

4. Choose the correct variant

Ice sheets along the warmer coastal edges are vulnerable to
melting

cracking

glistering

drowning

OOw>»

5. Choose the correct variant
subdivisions depend on distance from the sea.
climatic
weather
temperature
forecast

OOw>

6. Choose the correct variant
warming would actually lower sea levels at first.
A. current



B. recent
C. global
D. worldwide

7. Choose the correct variant
In warmer temperatures, of ocean water increases and more snow falls.
A. evaporation
B. melting
C. warming
D. cooling

8. Choose the correct variant
It’s raining cats and !
A. frogs
B. dogs
C. rats
D. whales
9. Choose the correct variant
Thunder is impressive, but it is that does the work.
A. lightning
B. storm

C. hurricane
D. tornado

10. Choose the correct variant

The word monsoon means in Arabic.
A. downpour

B. rain

C. season

D. weather

11. Choose the correct variant

Tornadoes happen during storms when warm air and strong winds begin to upwards
A. whip
B. spring
C. spin
D. blow

12. Choose the correct variant

Global temperatures rise due to gas omissions.
A. greenhouse

B. petrol

C. acid

D. fuel



13. Choose the correct variant

The gigantic sea wave known as wave can cause lots of damage.
A. tributary
B. estuary
C. tidal
D. coastal

14. Choose the correct variant

The heavy in winter attracts lots of adventure seekers.
A. sleet
B. avalanche

C. blizzard
D. snowfall

15. Choose the correct variant
Weather nowadays are more reliable than ever before.
A. predictions
B. foretelling
C. forecasts
D. conditions

16. Choose the correct variant
In some parts of the country there is already evidence of how changing weather
affected the local flora and fauna.
A. patterns
B. samples
C. units
D. zones
17. Choose the correct variant
Relations between two spouses have almost reached point.
A. freezing
B. boiling
C. rising
D. shifting

18. Choose the correct variant

There are frequent in Iceland, so it’s a good idea to bring a raincoat with you.

A. sunshine
B. showers
C. hails
D. mists

19. Choose the correct variant

have

It would be highly irresponsible for people today to do nothing about the threats to natural

such as rainforest.



environment
area

habitat
ecosystem

OCoOw>

20. Choose the correct variant

Due to the lack of , we could not go sailing.
A. wind

B. fog

C. storm

D. showery

21. Choose the correct variant:

All liquids have a characteristic temperature at which they turn into solids, known as their
point.

A. boiling
B. freezing
C. melting
D. temperature

22. Choose the correct variant:
The point of a liquid is the temperature at which it becomes a gas.
A. boiling
B. freezing
C. melting
D. calorie

23. Choose the correct variant:
What is the point of silver?
A. boiling
B. freezing
C. melting
D. temperature

24. Choose the correct variant:
How do you burn off ?
A. temperature
B. degrees
C. scales
D. calories

25. Choose the correct variant:
In my childhood, the majority of thermometers had a mercury
A. temperature
B. degree




26.

27.

28.

29.

30.

C. scale
D. column

Choose the correct variant:

Wind-speed is a device that shows how fast the wind blows.
A. degree

B. indicator
C. scale

D. column

Choose the correct variant:
is the height of an object or point in relation to sea level or ground level.

A. Latitude

B. Altitude

C. Longitude
D. Hemisphere

Choose the correct variant:
the angular distance of a place north or south of the earth's equator.

A. Latitude

B. Altitude

C. Longitude
D. Hemisphere

Choose the correct variant:
the angular distance of a place east or west of the meridian at Greenwich.

A. Latitude

B. Altitude

C. Longitude
D. Hemisphere

Choose the correct variant:

Our country is located in the Northern
A. latitude

B. altitude

C. longitude

D. hemisphere
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	________ (rain or snow) varies considerably from place to place.
	A. Precipitation
	B. Showery
	C. Downpour
	D. Sleet

